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1. The average price of 80 mobile phones is Rs.30,000. If the highest and lowest price
mobile phones are sold out then the average price of remaining 78 mobile phones is Rs.
29,500. The cost of the highest mobile is Rs.80,000. The cost of lowest price mobile is? <
g0 AIATES I BT MW qeu w 30,000 & [AFY OB AR TATH oI B HAG B A9 23 "{\8
ot € 1 99 78 Harge B @ aled 5o © 29,500 B S § | SEAH qe R Rww B ——
zrré’rthmﬁ?mﬂ-ﬁau.ooo%lwamwﬁfﬁéﬁmﬁﬁmmﬂ%ﬂﬂﬂﬁwzw
(A) Rs. 18000 (B) .

. 15000
(C) Rs. 19000 Rs. 1

(D)  Can't be determined/ff¥ea &l &R wH

2. Ina Company the average income of all the employees is Rs. 20000 per month. ,
PRCENY 1e company announced increment of Rs. 2000 per month for all the employees.
The new average income of all the employees is?/ T& @u ¥ W HHRAT &Y. 3GaT T

’ ol FEIT 5 20000 B | BTl @ % U ¥ % 2000 WA FE B gy, W ARG B o A
TR B WO A R | wh R B T sed

(A)  Rs.1,22000  (B) Rs.24000 (C) Rs.28000 (D) Rs.26000 " -
’ 2; Pranav went to the bank at the speed of 60 km/h while returning for his home he
covered the half of the distance at the speed of 10 km/h, but suddenly he realised that he

was getting late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed of the Pranav in the whole
length of journey is? ToTT % 60 ffl /Her & TS TR AT AT fbeg W) ATOT B, G S
IR 8 10 e /EeT @ TRY W a7 B | sraEE S @ b g8 ore 8 <87 o A, $EE,
e 7g1$ ok @ a9 g5 T a8 30 fdl /ver ) TR F 7@ wRY g WY 9gW T, ) 0
graT | uvrg @ i i @ off? . B o e e 2

(A) 24 km/h/24 . ufer wer (B) 14 km/h/14 o

(C) 16 km/h/16 fadl. ufey wer (D) 10 km/h/10 . wfe eer
4, The average expenditure of Mr. Sharma for the January to June is Rs: 4200-and he

spent Rs. 1200 in January and Rs.1500 in July. The average 'ex’pshditqra for the months
O?February to July is? FEfS F1 S | ST TP BT aftere @it ¥ 4200 2 sie ?-E'?q‘ﬁ 1200
SFTad # SR 1500 erd F 2 HEl & Had) A el qh D Hel bi e @b w7

(A) Rs.2750 () Rs.3250 . (C) Rs. 4250 (D) ‘Rs.4500- ..
i t all shake hands with

d of a business conference the ten people presen _
S'ac:h of;:etrhgnig. How many handshakes will there be altogether? T& @R e B I E
5 qqﬁamwﬂmmfaawqmﬁwmmﬁmﬁ%l@ﬁmﬁwﬁmﬁmm
v IT €7 | R e
(A) 20 (B) 45 (C) 55 (D) 90 ... |
6 The average presence of students of a class in a College on Monday, Tuesday and qg

i Friday and Saturday is 30. If the
day is 32 and on the Wednesday, Thurgday, .
gi?;g: n:mber of students on all the six days IS 26 then the number of students who c?

attended the class on Wednesday is? HMaR, HTeraR sk guar B Fen A R @ SG
ptsie o 18k
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he returned from R to P via Q at the speed of 24 km/h. Th

trip is: GY 3T ;TEIZTP W Q T AT g a0 foph m%%‘{e’w?g%e?‘i?egﬁ f;'gg“;gz
fpR A g 98 ‘Um-“ﬁm‘ﬁfﬂ%ﬁﬂ'ﬁﬂ‘wmm%lﬁﬂazR@l
P, Q@ T 24 A M HET ) IR ¥ aroeht e 2 1 9@ arn @ ot TR 2

(A) 185kmh (B) 19.8km/h (C) ' 18.2 km/h (D)  19.2 km/h

8. ~ Ramesh walked 6 km to reach the station from his house, then he boarded a train
whose average speed was 60 km/h and thus he reached his destination. In this way he
took a total time of 3 hours. If the average speed of the entire journey was 32 km/h then
the average speed of walking is: ¥4 3199 = 1 W a% UgeE @ forg e fd. daa "o
2 R 98 U& X9 A 9% WaT 8 R siwa wfy e0 AL ufy wer R ek gg e Ta@
WM TP YgF Wl ¥ | ¥ TPR G & o i o b1 w9y oar & | A g aran @i
st wfy 32 . ufty wer off O Ya = & it Tifer of:

(A)  5'kmih (B) 8kmh  (C) 2kmh (D) 4kmh

9. . " Bala travels first one-third of the total distance at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one ~ third distance at the speed
of 60 km/h. What is the average speed of Bala? areir aral 91 & g4 &1 - Td 10°
i ufty der @ fd & 3R arTelt U RieE @ 20 fN). wfay wer & ofa @R arfed &
foreTE 60 . Wiy wier & wfY A a7 HRAT ® | Aron W siwa Ay w@wR? %#'0-.-.33“‘7"

(A) 18km/h  (B) 19 km/h - (C) - 16km/ . (D) - 12km/h - ey

10.  The distance of the School and house of Suresh is 80 km. One day he was late by %"l
1 hour than the normal time to leave for the college; so he increased his speed by 4km/h .
and thus he reached to college at the normal time. What is the changed speed of Suresh?
WY B Rerea ok o & fm A g8 80 AL R | v 27 a8 ReEer 9N ® (N TR Bre
a%wmmﬁwﬁaﬁem_a?WMWﬁuﬁmﬂ.nﬁrﬂaﬁmﬁmaﬁ?w
WE TE fETeRs o WM WE W) ugE T | QR @) agel g8 afy aar o

(A) 28 km/h (B) 25 km/h (C) 20 km/h (D) 24 km/h

éé—e . a:\gistakgt?es to College at 20 km/h and reaches college 4 minutes late. Next time she
i m/h and reaches the college 2 minutes earlier than the scheduled time. What . -
e distance of her school? ariaT ®forer 20 R0, WRY Her @ TR § SHY 4 FFE AT

2 arreh : :
hmmﬁ;%ﬁ;:?j.uﬁwaﬁwﬁﬁmﬁﬁﬁawﬁzm{&w'

() 16km . (®B) 12m (C) 15km (D) 10km
- :

wo oL L s

Ry Tal T wvh
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"3

from each oth A |
nd S are 800 km apart other. Two persons start from:
" ds S at an interval of 2 hours. Wh_ereaS; leaves R for S before B. The speeds r:f‘
(owaé are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way fr
A “What s the ratio of tme taken by A 3 N0 5 W mestat M? 21 W Rl S o
gsgo'ﬁ#?g,a’rmﬁﬂRﬁsaﬁ ﬁ%ﬂﬂ‘fﬂéiﬁa’mﬁgﬁmﬁﬁq
R @ foru frdomar 21 A 3R B TFY 2 ofy
'

Two places R a

oSS e FHY: 40 3R 60 fHh. wfy ey
g’ﬂ% MR A Qo Frpel T 8 S5 RS Bty w2 I MR e & fag Ad

waﬁwa‘fﬁ%“? q;

A 13 B) 12 ©) 14 (D) 3:2 :”

rt from ' Dafs e
13.  Two places R and S are 800 km apa each other. Two pefsons start f
towards S at an interval of 2 hours. Whgreas A leaves R for § betorepB. The ::Jied;og;zm
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way fr T
R to S. What is the distance from R, where B overtakes A? <1 wor. R aiiv S vs T
Rro, @ B @ fory Foer A ugel Frverl &1 A 3 B 21T 91 1y 5wt 40 3 oy L8
suer 81 B, M XA W 3m Fgver @i & O 5 RY S & wt w2 | orei ' B, AW g
frer omar @, 98 R A fhai goaw 27

(A)260km . (B) 235km  (C) 240km (D) 300km

{

14.  Ajay covers certain distance with his own speed but when he reduces his speed;fx
10km/h, his time duration for the journey increases by 40 hours while if, he increases hi
speed by 5 km/h from his original speed; he takes 10 hours_less than the original time
taken. Find the distance covered by him. 39 T fffed 5@ s 1fa '\5# TT TR W
o a8 O A F 10 Rl /v B W amar @ o S am gty 40 02 9g Ol

WA
£ oeg

"o p'h;

(A) 1000 km fat (B) 1200 km f&#t  (C) 1500 km f&#ft (D) 1800 km fod

15.  The driver of an ambulance sees a bus 40'm ahead of him, after 20 seconds’ the'tis
is,60 meter behind, If the speed of the ambulance is 30 km/h (f&#T / 51T), what is the speex
of the bus? TE TgolY T dTeTd ST AT ST X&) O Y 40 Aex I @A B, 20 Fpe P ¢
9 D 60 Hew NS By 2| Ak dgeiw & wfy 30 W /Her & o 9w @ ARy TG, o

(A) 10km/h - (B) 12kmth : (C) 1Skmh . (D) 22 kmfhﬁf‘f. Lol

16.  Two rabbits start running towards each other, one from A to B and another frorr!.ﬁ

to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hotir befoge
.the second rabbit reaches A. If the distance between A and B is 50 km, what is the spég
. of the slower rabbit? &1 @Y TP AR & AR S W &) 76 AW B @ 3w 3k ;@j‘_ﬂ;_

Aﬁmtﬁaﬁwa@%aﬁwﬁmmﬁ“mmmBﬂﬁﬁ AT

TG N 5/6 wer ygd ugaw ¥ AR A @ik B B 99 # @ s0 Rl & o oy Wi A

e & Y F A | l
(A) 20kmh  (B) 10kmh (C) 15kmh (D) " 25kmh I'

—
&

o

o
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ﬂr _ Pranav walked at 5 km/h for certain part
4 emaining part of the journe Part of the jo
""‘rr:gy what part of journey dic)f, !E:-:‘:Bllfng at 25 km}h-u{rn?}g ?nd 10 ok o st for

yurney, 17 km/h? UG e 3 ravelled by ayto if 00k 10 hours for the entire

_ymegmsgeag o Bl e ﬁm?)e sherage speed of the entire

"".gﬁ;mwﬁéﬁm% ar Ty f mmﬁm’*%%mﬁmﬁmﬁmm
me o ——— IR aifey ar 8 afz as 9@

oy 17 e /v & ﬁvsnﬁauﬁmuﬁtr;nfwaﬂ

......

iy

A 750 km (B) 100 km :
A (© 150km . (©) 200km

.' i . 5.12.7,41.87,214
' gt .46 " (B) 35 .

{9~ 14,7, 13,17.5,21.75 , o g e s e A g
(A) 10 ' (B) 12 ks (C) 125 (D) 13.25 I"gqo
i RIS AU [ il o
4, 15,5,.45,58,7.9,7 =~ = 1 e RS e N 5 s
(A) 96 (B) 11.42 (C) 1223° - (D) 1074 ’-"’ 7
1. Find the sum of first 30 natural numbers wer 30 R S Rt S 0"
AY-470 (B) . 468 "t (C)': 465. - imi(D) 463 -
” : e B NS e r 4t (0 - S )82
23" "56% of Y is 182. What is Y? Y ®T1'36% 182-8 | ar Y w2 - 37— 10O e
Pk o PEEEEYY T T RTINS
(A) 2350 .. " ~AB)sis 7- - -/364 . . ..-(C) 325, .. (D). 330 o ".}._'
23, ' Which of the following two ratios is greater 17:18 and 10117%?31‘3’11!3’[ 17:18 3R
1011 4 § @I g9 87 A P < S RHNE

A “ 1771888 e B BYCE! . B & Ll
{©):..: Both are same. 3T v, W1 & | (D)., Cannot determine AR 7 3% g

24" "Iri a'palace, supplies are available for 35 days for only 75'bedple:-15 Guests arrive
jn the palace for vacation on day 1 itself. For how many days will these supplies be
gufﬁcient for all these people? T& ¥ v Baal 75 @fdwdl & feig 35 fRAT 9% myfel Sucer
e | S¥ XU W gfeed) & forg, ygel o= &) .15 IRy a7 @ & ) A RAT @ oy, 3w amgfe
7wl @frt @ fory water va?

j’ﬁ) :99days &7 (B) 11.25days R~ (C) 42 days = (D) * 225 days f
;i;n._.-v-'f;'di_fference' between Compound Interest & Simple Interest on' a certain sum of
ﬁﬁﬁfgrx"or % 'S, @ 5% p.a. is Rs.122. Find the sum? afe = @df & for, v Ffaa
7W5/onﬁaﬁw%3ﬁvmm$aﬂwwmlﬁ 122 &, A =i @ ga

SHUY
(D)  Rs. 17000

(A

E_) ~Rs.14000 (B) Rs. 15000 (C)  Rs. 16000
et yiels &
. M2 _ S¢Sy - [g\g\.z.—%\
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AN Youth Surnmit was heggom 14th - 19th August, 2017 ;
17In08 1 ARG—3 i ey
20 201% el (B) Mumbal 57 (C) Bhopal sy (D) Chennai 3

: ikrama’, which wi
& ect Navika Sagar Fan N Will commence in §

der prOj%fficefs of the Indian Navy would CIrcumnavigate the glol;a(aEJ e A1

men O ey 2017 7 IR, T g e 0N an Ingigy,.

L amed: - :
oo o 3 et @ T 1 T, R o o o e

ey Duge 1 @ INsv Sindhu ¥ () INSV Amba sigr () insy Tar )
A g, 2017, which Asian country launcheq

18, ts first cyb
On August 2 18 3R, 2 yber court special
related cases? 18 37X, 2017 @I, frg of i P i2ing

8. - )
%hggggg;}ngzgw qgal Qrgay el IRy fhar 32 @ ’V‘ﬁr
) apanr (B O3 @ (C) South Korea R #Rar (D) Thailand et

9. On August 18, 2017, Po\_/ver G(id qupgratjon annouriced that it will get 'é loan of
$5'00 million from which Intgrnatlongl fl,nanqgl_“;ns{tttutio'n for its various projects? 18 s
017 3 TR 8 T tio 34; : A | @) fafr aRar @ farsoo
(A) Asian Development Bank TR ST 3T (B)World Bank R ¥ . - -

(C) Intemational Monetary Fund IS e q’_\"' (D) New Development Bank 3 Sdciic ¥

30. Whoamong the following cricketer has continued to be the world’s top-ranked One-
day batsman in the latest ICC ODI rankings, released in Dubai on August 18, 20177 18
T, 2017 @ g@3 § W AT ors W W vh Ry sidusha T A e A 4 sl w

frde Reend! walee T R &1 M &2 o A A
(A) ViratKohli ~ fiRre Freah (B) DavidWamer 3R ar
(C) ABDeVilierst & f& faferai (D) JoeRoot'"' M we

31, WhO.among the following has won a silver medal in the javelin throw at the’ﬁrst World
Para Athletics Junior Championships in Nottwil, Switzerland? ; TEeh
R U1 Qoifeae e AR & P ¥ 3 R el $a A SR o 7@ i 7
(A) Prince Ahuja ffr s (B) Jatinder Singh Sifrex e

(C)  Prakash Jaishankar garer HUIHR (D) Rinku Hooda @ g<er

erty (Amendment) Bill, 2017', a bil

In c

providing for amendment to th . o 4 i :
: e regulations governing i ced in
:Ee time of acquisition of immovablegproé)erty %y the central governmen! ‘-I’/alsalcr:t;(r?eju:J came
o I?gri::s ?’b“;;” July 18, 2017, This bill is an amendment tne'caf@'"am 017" F
n; ; T afeTen : :

' T 18 2017 @7 A ﬁﬁmﬁ[fﬁwm
A G o, 7 o e e @ 21 < S

T T |ugﬁma§ra@ﬁuﬂﬁﬁw’ma

(A) 195 (B) 1951 ©) 1950
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33. A bill providing for seyy,
was introduceg ingt::p of the |
e

I
. : =
ki m” I? ik IR g oK Sath:nOr"nStitute of Perol
T o’ Ry, \J“'Vﬁ 18, 2017, o 8nd Energy n
njab gSITd ' I 18, 2017
(B) Haryana

(C)Telangana Q&I

34,
R B HRVI, TSIt B

(A)  Kiwi @rdt :
(C)  Przewalski's horse seret gy (B)  Dodo wregy
’ (D) Bustarg TS

35.  Which of fqllowing utilises Sunlight :
A JuRd FF H I H ay 22 N @ direct fashion? fay % & @ i & W B
(A) .. Photovoltaic cell  g&rer ey
(C)-- Bio gas production g g Wﬁa Eg)) ggar/t\herm:}l;e"s o &
&B A&B
36. In ‘Intemet’ term WWWW, the 4t :
e 7 € 47 W stands for gevie wmraah § WWWW, & dorw @
(A) Web (B)  Worm (C) Wreck (D) Wsik
37’.": IPv6 addresses have a size of:  |Pv6 Td} &1 93w &
(A) 64 bits (B)  128bits  (C) 256 bits (D) 512 bits

38.  The Constitution of India recognises: ¥Rdra <R A=rar e 2 -

(A)  Only religious minorities ®a« fi& rcaEEa®d! B

(8)  Only linguistic minorities dad MNP FHeaziEaD] B

(C) .- .Religious and Linguistic minorities affe R wRe AcadEadl o

(D) - Religious, Linguistic & Ethnic minorities €nf¥a, MY 3R A DT B

Emperor’s rule, number of Hindus employ¢

39.  During which of the following Mughal :
t? 5 I TG B AEAB A TS

by Emperor's Administration was the highes

wm'maﬁmn%gaﬁaﬁﬂwmﬁmww?

(A) < Humayun gAg (B) Akbar J&R
(C) . Shahjahan wngwiat (D)  Aurangzeb aﬁv'TG‘m‘

40. -:f-The Mansabdari system introduced by Akbar was borrowed from the sys
followed in/siar gRY 9 @ T8 “AEEE W ;
(B) Turkeyg'rﬁ

(A)  Afghanistan sismfa
(C)  Mongolia wifemr (D) Persia ol
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41. Who amon f ht Delhl
g the following is said to have witnessed the reigns of eig
Sultans? fir 3 W 5 et & aa g @ Ao BT AR el o 87

(A) Ziauddin Barani forarsgdh e (B) Shams-i-Siraj Afif g AN
(C) Minhaj-us-Siraj AT A—ao-RRa (D) Amir Khusrau 3R gavt
under

42.  The President of India referred the A Ggunt
yodhya issue to the Supreme :
yhich Artcle? sIeq  arszafy 3 smvar (s @) (o argas B S A G A A

o ?
(A) 143 (B) 132 (C) 138 (D) 136
43.  Right to privacy as a Fundamental Right is implied in Tﬁq?ﬁtral &1 AR Ta Hiferd
IMER B T F aref a7 &

(A)  Right to Freedom wd=mr @1 3lI®R
(B)  Right to Life & Personal Liberty Sfta= @ik et wanfiar &t :ﬂfﬁm‘r\'

(C)  Right to Equality T T @R
(D)  Right against Exploitation wiyor & faeg sfyer

44, The interval between two sessions of parllament must not exceed W % €7 ?ﬁ‘f @
¥ BT AT 3O IfE 7E A ART ?

(A) 3 monthsAwie (B) 6monthsdE  (C) 4 months A8
45.  With reference to inflation in Indna which “of the fol!owung statements. |s correct"
uRe ¥ Ry @ wed et wet ¥ o @ o wdt @7

(A) Controllmg the inflation'in’ India is'the responsublhty of thb’ é‘évernment of Indla only
ARG & a1 W G RIG TRT WRIR @ orsierd ¥
atlon ﬁaé db ifE

The Reserve Bank of India has no role in contro!llng the mﬂ i
RO 3 e LT P~y

(B)
gfear & WWWWW :

(C) Decreased money circulation helps m controlling the inflation aa?n gET eSS

PRI Bl AT a1 2 %
Increased money circulation’ helps 'in controlling the inflation gzdr ‘gaT W

eI B AT Fear @

Which of the following: brings out the 'Consumer Price Index Number for Industrlal

WO*efsqﬁﬁ‘ﬁﬁm'Sﬁ@ﬁmma}mmWWm%?

(A)  The Reserve Bank of India Rerd § aife 3f¥ar

(B)  The Department of Economic Affairs anfi& Araeit @1 fwmy

(C)  The Labour Bureau % )

(D)  The Department of Personnel and Training ®1fie&s Td fivor fa

(D) 100 days &=

(D)

47.  ‘Golden Revolution' is related to wqof IR wWefdrg 2 - Sl P
(A) Precious minerals sgqeg @i (B)"" Pulses TS o i
(2SS |

(C) Jute T (D) Horticulture Frmary L
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ties
- TE Be gry 'Mposed by the International Monetary Fund

(B) It has to borrow to make Interest @ &
o Payments on outstanding loans @& T@rar %o @

(C) Ithas been refused loans o aj ,
@ g =7 o o gy @ raid by creditors abroad fadh dmari gV F AR AR

(D) The World Bank charges a very hi ,
R 3 TT IR TN ool v high rate of interest on outstanding & new loans

49.  Withrespectto GST, consider following statements GST & ey % fmy Tl ® AR &

Reduces cascading effect ame mmg o 7 ey 2 |

Is a comprehensive indirect tax I8 v e amuE w1 g

Aimed at forging a common domestic market 3 e IR F1 FAR P BT D &
Alcohol and petroleum are exempted from GST #f3xT iR o1 BT GST H e U 5

(A) 1.2 3correct W&l ® (B) 2,3 correct Wé 2
(C) 2.3, 4correct §el & (D)  All the above are correct ¥ W&l &

B wn

50, India’s current account defict in Balance, of Trade is mainly due to ¥R @ TIRITR
(8).Increasing imports of. oil.and petroleum e ol 3w @& amara A gf&
(b)'Increasing imports of gold and silver W 3R P § g -

(c) Increasing imposts of food grains el At @ I ¥ gfE e ;
(d) Increasing imports of iron and steel & IR T @ ImE H gfE .

(B) (a)and(c)

’

A (@) (b)andc) e
() ... (a) and (b) D). (a)and(d)e, .oy pes st )
51. ..., Find the minimum number of straight lines required to make the given figure. N

)16 ® 17 .. (@€ 18 (b 12

{
.
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ﬁ

following f1gur%S best depicts the relatio
i A

nship among criminals,
W,,.cnfm? ,aﬁaﬁ?wmzﬁ:ha%#mmwua%hm
and ju udges —g?

ENOJE:
000000@

(d)

[

A a (B) b €) iz O d

» Find the number of triangles in the given figure:

w18 ® 2 © % o z

54.  Of the following two statements, both of whuch cannot be true but both can also be
false. Which are these two statements? 7 @) FomAt # & &1 9t FoF @ H‘t‘ﬁ & e
g o N A FHd & | TE SN AH B AR

o Ry T Yrra % Bl A v ae?

|. All machines make noise T TN AR e “""'f"""
II. Some machines are noisy-. . F[B A IR FRd-§- 4 S

I1l. No machine makes noise Y § A TR T Wé’l APy M

IV. Some machines are not noisy B TN Eﬁ? TE?I FRE

A1 &I B) M&IV C)y 1&Il- . (D) N&IWV '_ e

55.  Insert arithmetical signs in the equatlon for it to be correct 8.4 2= 16
84 2= 16 ¥4EW 31 WAl B4 B forg fe F B 6 sl faa‘rahaﬁmmrmw?
(A)  +x B) -+ (C) ~art ) .

Y
g Ty

56.  If afe 84x13=8, 37x13=6, 26x11=6, then T 56x22=?

A) 3 B) 5 © 7. (B g
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57. If + means givi
ide, x means — +
value of 9+3+4-8x2 zf2 , FT 31ef f?ﬁwm' mxe:Tsa‘":fUmP'y andq—i- means plus, th;n find th;‘r
‘ o+ BTy oy R — BT 3 A

ar 9+3+4-8x2

(A) 15 B) 17 © 18

58.  Find the next term of the sequence 1 8, 4 ® :

TR AT BT YT FIIG? ‘l' 1,'1._-3%7.3% 5 g9 @9 fa=rg # am9 areh
w2 ® 9 © 64 () 16

Bavid di
59. avid divides 78 by half and adds 11. What number he gets at the end? 3f¥ 78 @1

MY N HIT IRD 11 SArgar & 3T ¥ N sigs vy e
(A) 50 (B) 44y C) 167 (D) 83%
In a knockout football competition 23 teams participated. What was the least

60.
number of matches they needed to play to decide the winner? 1@ “iie—3mee”

; ; ? Ud i Hedrd
gferfiren & 23 &% 7 AT AW | 379 W @ Rorar @ Bol 3 @ BT 39 Q@ 39 feaa 39
e g ?

(A) 11 (B) 21 (C) 22 (D) 62

61. At half past 5 in the evening, the smaller angle between the-hour & minute hands of
aclock is ¥ &I 5.30 g9, HSl & =S 3R fFe @ Fiel S & &1 Bler IV & &

(A)  10° B) 12° (c) 15° (o) 18°

62 Fillin the blanks Rex ¥ %RY : BA_BA_BAC_ACB_CBAC

(A) AACB (B) . BBCA (C) CCBA --- (D) CBAC

63. Angles of a given triangle are in the ratio of 2:3:4. What kind of triangle’is the given
triangle? fRT T FPIT ¥ PO BT AU 2:34 ¥ | AT AT B . gHR. BT T 87
(A) Right-angled Ja®iT -7 n&(B)  Obtuse angle e oror
(C) Isosceles \Afgarg HVT © (D) Acuteangle =T IV
64. The houses of A and B face each other on a road going north-south, A’s being on
the western side. A comes out of his house, turns left, travels 5 km, turns right, travels 5
km to the front of D’s house. B does exactly the same and reaches the front of C's house.
In this context, which one of the following statements is correct? A 3R B & BX IwiR—

AR B SR FI g TF TSP W TP R B wEA A Rerd € i A &1 W aflfEw @
HR B | AU BR W SRR AT 2, A qoaT B, 5 A, B Ao XA 8, I HSW R IR D B
W B G T 5 &R, B a0 Fvar 2 B fReger a1 & @var & IR C B W D AHA G
TR ) § e H A A ¥ BN a1 o g 27

(A)  Cand D live on the same street. C 3R D % & ¥<F WX wEd &

(B)  C's house faces south. C T &R zRyoed) &
(C)  Houses of C & D are less than 20 km apart. C 3% D & & 20 Bk & 39 P wE

(D) None of the aboveSToIFT & T T
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v
_'.x,!
6s. BEH, DGJ. (?), EJO, GLQ, INS, ? g
(A) FLR (B) FIS (C) FKO (D) FlL
B
66 H; Vl Gl T' F! R' E| P, ? fu:"
A KL (B) D, N €) cD (D) LK 2
67 4.3:10m:8u2 ' . ~-‘z‘.;g
(A) 10 (B) 13 ©C) 17 D) 14 i
68. If TOUR is written as 1234, CLEAR is itten as 56784 and SPARE is writteg
as 90847, find the code for CARE af TOUR %Y ?;;46??{@[ 1T B, CLEAR o1 s6784 forgy
m%@hSPAREaﬁ%w%«mmga} CARE &7 Pre udl & ? *‘
(A) 1247 (B) 4847 (C) 5247 - (D) 5847 B
69. CALANDER is coded in a code as CLANAEDR. Find the code for C'RCULAR
under the same rule. ABfAF w7 3 CALANDER aﬁ CLANAEDR forar a1 € | F‘ﬂ
TR CIRCULAR #Rmar s . e aa
(A) LACANDER : (B) CRIUCALR . *
(C) CLANADER (D)  None of these Sudad & & #E’ =r§f e ‘\i
70. (a )Eltherhe|shappyorhelspoor mﬁ‘ra'a'zgw%maﬁ’vﬁﬂﬁ I '
(b) He is happy. T& @3- |~ s | R s
Inference : He is poor. I - a't-"T?fa ‘% T T IR 9
= Soer T
(A) The inference is definitely true 313““? ‘{Ufau m % WY Do A s o B e fp
(B) The inference is definitely false "= qofca: s & L ek Fi 11’
The inference is probably false or true ¥9AT= T9aq: [y AT R 3 g -
(D) The inference can not be drawn 3 A& fAETAT &1 G&Har & 'A ;
V.4
71.  (a) Those who are honest are good teachers. it étrra'm E‘l?f % a’r 3@ f'l'm'ds Eﬁ 3]
(b) Hard working people are honest WA, A SRR B, _ ! y
Inference: Hard work is the necessary quality of a good teacher. =~~~ %= &) '
FTAA : WETd U e e o amawgs [ e | solimsiilprmit A7 ©

(A) The inference is definitely true ST3HTT ot "ﬂm 2

(B)  The inference is definitely false 37 [ofaa: arveg & - e A
(C)  The inference is probably false or true 3T Haq: ™ a1 [y g : ""’f"* 3
(D)  The inference can not be drawn 337 T fRere o w2, gkl ,‘

“:'e

72.  Based on the following statements, which is the correct conc -

femfamwwqwmwmwvaﬁ@f P 3 e 7 Liion d"":'ﬁ‘

Only gentlemen can become members of the club. Many of the mempe g of

officers. Some of the officers have been '"V'ted for dinner. Faq W1 goy 2 .clut:ﬁqg

T TS ¥ ) iy o @ WeE s £ T8 A ﬁm%%amaa—ﬁm

ST 8

(A) Al the members of the club have been invited for dinner 7o & gy et a,a,--qﬁ
) a

Y

il
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b AT UR e

{é) Some of th

% © of the offi

(C) All gentiemen af::f; a:
(D) Only gentiemen pa,q bbers
V fpay wrar & e

4

73.  Inafamily there are |,
jnvited to a dinner. Both sq usband, wif

ns » o son
jyas at home? T SRaR 3 oy 710 play. Hugpgnyoda

K o |aﬁ?m®aﬁﬁ@'lwﬁ?ma
() Only wife was at home gy 9=

d ghters. All the ladies were
&ld not return from office. Who

o © Wi ARem w IPeie w
%%“ﬁm | BR @R HA ai?

(B) Al ladies were at home w W of e L 13
(C)  Only sons were at home g qx U:W R off
(D)  Nobody was at home tr w 3t = ;{“\’ q

’74' | If Als the th Of.d,. Q and .zY‘:ére Sistérs i€ s i ,
which of the following staterh'en'ts is correct? in,za'ithg g;?lg:r_ %ofg{,a!; ;sYtt:eﬁ;og 0:{ %ﬁ ﬂ:{?;

.

A) P is maternal uncle of A; P, A @1 R (B) P:and Y are sisters; P &R Y @& ¢
(C) Aand P are cousins; A AR P TN AE ¥ (D) None of the above; 74 I R 8

75. There are 5 books A, B, C, D & E placed on atable. If A is placed below E, C is
placed above D, B is placed below A and D is:plaged above E, then which of the following
books touches the surface of the table? T& W X 5 T&@ & 13 & aR A E &
@ W &, C DD HW T AT 2, BB AF Y W AR, D BLE B FR & A

g @ 3 N gwE A9 B TG BLWE TR &7 gP'\D
in c @B @A COE i
?6. ~ ‘To decamp’ would mean: ]! B :‘?
(A) “Toremovetent ' (B) Toevidt camr;ersi Y |

(C) Todecrease pressure '~ (D) ‘_Tp leave suddenly - -

?7. Which pair is wrongly matched? T

A) Discreet : Separate (B) Gamut: Wriole

C) Exacerbated : Increased (D)  Allude :Escape

78.  Identify the cofrect pair: ~

A)  Elude ; Dodge . (B) . Allude:Escape

C) “Forbear it (D) Latter: Afterwards

tS ‘A @evil's advocate would be: " -

(A) An evil per$6n ‘ _ ‘ l-':__ .‘4(B) A counter argument presenter

g) Advocate of a criminal (D) Unregistered advocate

c,

(o

‘,x{l
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Satish heard from the horse's mouth means:
a

oman authoritative source (B) From a close friend
(A) E:om the closest family member (D) From his boss

80.

(C)

g1, Satishisseated______ Sunita. .

(n)  Besides (B) Beside (C) Clearly (D) Closest
g2. ldentify the incorrect pair: Wt

(A) Moot :Debatable o (B) Singularly : Individually

(c) Regimen : Prescription (D) Sever : Detach

83. ‘I haven't studied a lot lately’. Here, ‘lately’ isa/an - - - &
(A)  Adverb (B)  Adjective (C)  Noun (D) Preposition . -

84.  Which sentence of following is correct?

(A)  The flowers was arranged carefully.  (B) * The meeting start promptly at 1100.
) Computers save time. : (D)  Lightning strike indiscriminately.

85.  ldentify the incorrect sentence:

(A) None of the minutes Was wasted. Ry B A
(B) None of the time was wasted. :

(C) Is any of the pizza left?

(D)  None of the above. Fos R

.....

86.  Among the two statements: - VRTINS, |
(i) Either Satish or Sejal takes out the garbage et A AT paas

(ii) Each of these prescriptions have side effects. = ~.-.= =+ o T 4 ‘
(A)  Both are correct " (B) (i) is correct, (ii) is incorrect ©
(C) (i)is incorrect, (ii) is correct (D) quh,are,incorrect_ N 29 e
87. Choose the sentence that has- mcorrect form of words; - B GRS O

(A)  When will you bring'you're pictures 5 WOrk? T ey TR
(B)  ltis your responsibility to go into details. nend 2 Vi
(C)  If you're planning to attend, do let me know. R AL o |

(D)  None of above. R r T e
88. | her speak on Friday nlght about the advantages of Organlc gardenmg
(A)  will have heard (B) ‘would hear -

(C) would have heard (D) will hear o - S
89.  Choose an incorrect/incomplete sentence: S,
(A)  The children in the park, including all those .an the swings.

(B)  Saritais an excellent school teacher.

(C)  She couldn't believe the premise of the story.

(D) | saw Dr. Ghosh because Dr. Khan Was on leave.
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90. What is not correct if ‘nest is to bird'?

(A)  Hangar s to aircraft
(C)  Orchestra s to music fg; \\//vai‘rl:g :2 :8 E)n::se d

91. The exact Opposite of ‘Lascivious’ would mean:

(A)  Devoted (B) Chaste (C)  Fluid (D) Manifest
92.  ‘Repercussion’ would mean:

(A) Reaction . (B) Concussion

(C)  Recollection (D) Cleverreply i,

93. —_____ togooutto an Italian restaurant tonight?

(A) Do.you like : -1 (B) Are you liking

(C)  Youlike (D) Would you like

94. . Excuse me, — - time please?

(A)  You have the (B) Whatis

(C) Have you got the (D) What

95.  He likes reading. He was a reader. (Fill in the best fitting word)

(A)  Anxious (B) Enthusiastic  (C) Voracious (D) Fervent

| remember my sister taking me to the museum.

96.
(Choose the best fit among the alternatives)
(A) | remember | was taken to the museum.
(B) | remember being taken to the museum by my sister.
(C) | remember myself being taken to the museum by my sister.:
(D) | remember taken to the museum by my sister.
97. ‘To make a clean breast of means: 75 o

(A)  To gain prominence (B) :To praise oneself = A3
(C) To confess everything (D) To destroy everything |

98. ‘To be above board’ means: -
(B) To be honest

A) To have a good height -
fC; To have no debts ‘ (D) To be beautiful

99.  That which cannot be corrected means:

(A) Unintelligible - (B) Indelit?lg
(C) Ilegible (D) Incorrigible
100. State in which the few govern the many is called:

(A)  Monarchy (B) Oligarchy
(C) Plutocracy (D) Autocracy
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